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INSTRUCTIONS

60 questions out of which 30 questions are to
be attempted.

All questions carry cqual marks.

Only one answer is to be given for cach question.
If more than one answers are marked, it would
be treated as wrong answer, '

Each question has four alternative responses
marked serially as 1, 2, 3, 4. You have to darken
the correct answer,

- There will be no negative marking for wrong

answer.
The candidate should ensure that Roll Number,
Subject Code and Serics Code on the Question

. Paper Booklet and Answer Sheet riust be sapme-

after opening the envelopes. In case they are
different, 2 candidate- musts obtain another
Question Paper of the same series. Candidate
himself shall be responsible for ensuring this.
Mobile Phone or any other electronic gadget in
the examination hall is strictly prohibited, A
candidate found with any of such objectionable
material wilh hinvher will be strietly dealt as per
rules.
The candidate will be allowed to catry the carbon
print-out of OMR Response Sheet with them on
conclusion of the examination.
If there is any sort of ambiguity/mistake either
of printing or factual nature then out of Hindi
and English Version of the question, the English
Version will be ireated as standard.
Warning : If a candidate is found copying or if
any unauthorised matenal is found in
his/her possession, F.LR. would be
lodged against him/her in the Police
Station and he/she would liable to be
prosceuted under Section 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992, Commission may also
debar him/her permanently from all
tuture  examinations of the
Commission.
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1 Which statement is more appropriate for you to become a teacher 7
(1) because of unemployment
(2) for comfort
(3) for getting more money
(4) for getting more respect in sociely

Rrers o9 & o frw wuw ¥ afue wewa ¥7
(1) @ e o

(2) oW & T

(3) ofie w9 W & ¥ o

4) e § ot TN W W F W

2 A teacher's true friend is :

(1) Respect (2) Money
(3) Bocks (4) Fellow beings
e H ogEn B -
(1) & S () =
(3) Y& 4y e

3  Which job would you prefer for your children 7
(1) Engineer - (2} University teacher
(3) Doctor (4} Government officer
AN IO T F WY eM-E Awd wHe eor ?
(1) gelbrae (2) Tagg fommem oreamas
(3) sRX (4) T AFEL

4 Teachers are : :
(1) Hard working (2) Lethargic

(3) Greedy (4) Angry persons
FEWH T T -
(1) ufesElr (2) e
(3) Tl ' (4 T® Tm AR
5 I shall be able to attain the objectives of literacy if I shall teach in a :
(1) Rural school (2) Urban school
{3) Private school (4) Government school _
¥ wak I & I & U BT G AR K SEEIT He -
(1) el e # 2) el wa #
@) WA =W W @ et Tl ww d
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Whose contribution is more in improving education ?

(1) Society (2) Education Department
(3} Able teacher {4) Able administrator
fren & gur @™ ¥ Rpww dres afim S % ?

(1) TuS @0 2) Rran fewm e

(3) AW AME B @) Or s @

You will choose which school for good teaching ?
(1) Public school

(2) Rural government schoo!

(3) Rural private school

(4) Government school

o HEMT & T ST ReW wpw bl 9@ w7
(1) vufes wgw (2) TeE TR g
(3) WEdT T W (4) V@R '

For improving examination result of school, you will evaluate :
(1) Continuous and comprehensive evaluation :
(2) Quarterly evaluation

(3) Half yearly evaluation

(4) Annuval evaluation

frenwa & wlen ooy & gEw & RR oM g w41

() dad i (2) Pfas TRafe

(3) g aite TwieT @) e ey

You will advise a talented _stu-:ient to béco‘me :

(1) A shopkeeper (2) A university teacher
(3) An IAS Officer (4) An IPS Officer

UF WM B & &g gxmel o -

(1) THEEER &9 @) 2) Fc‘f&?:f foawy sieams T B

() o€ T W wwmE I W (4) o N Tw awar ST @

Why do you want to choose teaching as a profession ?
(1) To get honour in your job

(2) To get more leaves in your job

(3) Less labour in job '

(4) No responsibility in your job

AT fEw wEgE @ SaaET e 7
(1) [ ¥ gaw e ¥

(2) W o erEeryr e
(3) ey ¥ w1 B HN

4) - ¥ e SEE ¥ g
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1 The suitable equipment to make learning permanent is -

(1) Radio - (2) Tapc Recorder
3y TV (4) Gramophone
ol B W F @ Suge SumT ¥
(nh W ) T T
Gy & & 4) THER
12 To teach students in a class, which ability level of students should be taken
care of ?
| {1) Talented level ‘ (2) Weak level
{3) Average level ' - {4) Different level
asmﬁaﬁnmm%as%ﬁf%meﬁa%ﬁwuﬁmmmmwmaﬁ%q?
(1) wRemas ww (2) WHHER WY
(3) o @Y | (4) R @
13 Should students be given the liberty to ask questions in a class ?
(1} Always (2) Sometimes
(3) On the will of teacher {4) Never
G B dEAl ¥ ORST [BA B ge & s wlen 2
(1) e 2) & =
(3) HwNH F AW W (@) ®W T
14 Appropriate level in teaching learning process is -
(1) Knowledge level (2) Affective level
(3) Psychomotor level (4) Al of the above
e oiftr & owgmr e wx %
(1) srms ®W (2) YEHE WX
(3) frawee @t @) Sl

15 Some students come late to school, you will :
(1) Punish them .
(2) Inform their parents/guardians -
(3) Find out the correct reason for it
(4) Inform their classmates

forenefl fenem & 3T @ o &, ey T B 2
(1) % aiveqg wr

2) ofvme w1 giw s

(3) W& WRY W TW wTE

(4) weurRt B ghig B
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How wiil you behave with the students who have not done their homework 7
{I) Deal strictly with them

(2) Find out the reason for not having done the homework

(3) Sympathise with them
(4} Punish them for the same
BE ek #% e W T % WY HE oraER G 7

(1) ®eRar @ =aer

(2) TEHEE T HE H BHRON @ T TTE

(3) W W wEEr w

@) TeEd % R afew w

Students do not want to study in the class, how will you behave with them 7.

(1) Send them out of the class (2) Ask them to take tuition
(3) Teach as per their interest (4} TelFthem to do some other work

B FHAl A TN A8 awd ¥ ook Wy s9 SE wEww w7
(1) wem ¥ Faw 2 (2) LW GTH @ FHan
(3) ® W @ werRd 4) ¥ wR W W wR

The characteristic of lesson plan is

(I)  The time for steps of lesson plan is not fixed
(2) The communication in lesson plan is verbal

(3) The communication in lesson plan is non verbal
(4) The steps of the lesson plan are organized

s g @ R B

(1) U ASFT & QUE B @ aRied &

(2) we A A vy B smREw B :

(3) U FeET ¥ wEwe HRf symiesm 8

(4) U AAT F AU aaRae & - )

Which of the following is needed to achieve the objectives of teaching

process 7 _
(1) Estimation (2) Control on variables
(3} No control on variable (4) No inspection

ﬁTwuﬁWwﬁr@waﬁuﬁ%&ﬁm}ﬁnﬁ%ﬁWmaﬂ
wEYEs ¥ 7 - |
(1) SIg9™ =T (2) = wx e @
(3) T 9¥ Frmw 7 @ 4) e 1 @

"To provide the learner an opportunity to’ discover knowledge by
himself” — this statement was given by :

(1) Joha Adams (2) Yokem and Simpson
(3) Melvin (4) Frabel

fpar e ?

(1) [ e . (2) @Twu T fogT

3) wakE (4) wEw
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The method in which student learns on his own pace is
(1} Demonstration method

(2)  Play-way method

(3) Lecture method

(4)  Programmed instruction method

o Sl i F otgw sifirmy gwar @ oaw fafy % -

(1) was™ iy
2) T fafy
(3) gy fafy

() ot erRem fafy

The method 1o teach a lesson using child centered approach is :

{1) Demonstration method 2) ﬁroblem solving method
{(3) Team teaching method (4) Lecture method
aﬁémaﬁw%ﬁw%@aﬁmmﬁaﬁ%ﬁq%—-

(1) vese Tty (2) wuET wmaw Rty

(3) wqE R fyfy (4) wmor fqfy

Students can be introduced to their natural and social environment by :
(1)  Museum (2) Library

(3) Text Books : (4) Laboratories
mﬁﬁmﬁ%eﬂrmnﬂﬁwﬁqﬁfwﬁmwm%
(1) ¥ (2) g

(3) uTEayEE (4) AP

To prepare a balanced question paper of a subject, we can use ;
(1) Question Bank = ' '
(2) Text Book Quustions

(3) Reference Book Questions

(4) Blue print -
ﬁﬁé’rﬁrwﬁsqwusra?rﬁg%ﬁwﬁ%ﬁﬁmﬁﬁﬁ%—-
(1) w59 By :

(2) veAYwE e

(3) dHe¥gwa wew

(4) a ux

The pioneer of objective type examination system is:
(1) C. B. Good (2) Garne

(3) J. S. Rice _ (4) Duglesh
TS ThE g F wadm ¥ -

(1) @& 9 s (2) @

(3) o w§ Ew (4) =™
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26  The committee which approves research proposal is ;

(1). RDC ) BOS
(3) SEC (4) SWC
e A ervw A TG @ A ahR 3 -
(1) RDC 2 BOS

(3) SEC 4y SWC

27 The most suitable tool for data collection in research work is
: (1) Questionnaire - (2) Schedule
, (3) Rating scale (4) Test
: ! My F T st B gweer O F TR SN WG T -
d (1), Sy | (2) egEr
' (3) Rkl (4) T

28 The cause of acid rain is :
ay o,
) SO, + NO,
3) CO
4) Co,
THAT B ! AT qul H HRUT ¥
10 0,
| 2) SO, + NO,
(3) €O
- 4) co, -

nt by :

29 Which of the following causes maximum damage to Ozone layer ?

(1) SO, (2) CH,
(3) Liquid NH, (4) Co
B S T B ot mEw eI B2
(1) SO, (2) CH,
(3) NH; (&) (4) CO

30  Atmospheric pollution is not caused by :

(1) CO @) S0,
(3) CH, - 4 0,
(1) €O ) SO,
(3) CH, 4) O,

. 99/SHKPOLA] 7 IR Conca..




31 Theory of communication was first given by =

(1) Aristotle (2) John Milton

(3) TFree Press _ (4) Shannon Weaver
wd wom wdww @ Reem few whaida fear?

(1) oRE ) = e

(3) W= ' (4) g e

32 Find the missing term :
0 7 26 _7 124 215

(1) 35 (2) 39
(3) 56 (4) 63
g @ §qE0 __
0 7 26 _7.124 215 _ i
(1) 35 (2) 39
(3) 36 (4) 63

33 Find the missing term :
11 10 2?2 100 1001 1000

(1) 101 2) 110
(3) 111 ' (4) 1011
gy ded sy ;o

11 10 2 100 1001 1000

(1) 101 ' (2) 110

3¢) 11 @ 101

34 Find the missing term :
0 3 8 15 24 35 48 2

(1) 51 (@) 55
(3) 63 (4) 65
g ¥ TaRy

0 3 8 15 24 35 48 27
1y 51 (2) 55
(3) 63 ' (4) 65

35 Complete the series :

ak e s _? qa

1 v 2) mw
{3) nx @ kw

e Ht o :

ak eo s _?  qa

1 v (2) mw
(3) nx 1)  kw
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In a certain code RATIONAL 1S written as RTANIOLA How would
TRIBAL be wriiten as :

(1) TRIALB (2) TIRALR

(3) TIRLBA (4) TIRLAB

Redl @i ¥ RATIONAL @Y f¥en wa1 ¥ RTANIOLA, @fq TRIBAL @)
IGICRIE

(1) TRIALB (2) TIRALR
(3) TIRLBA (4) TIRLAB
If 74683 means GREAT, then 7684 means :
(1) GEAR (2) HEAR
(3) REAG (4) GAER
afe 74683 @1 erf GREAT, @ 7684 @ aef ¥ -
(1) GEAR (2) HEAR
(3) REAG (4) GAER
Find the odd one out :
T ¥ oM waW

A B C D
1 A (2) B @) C (4) D
The mirror image is _
o yfghe % - _

A B C D

(1 A 2) -B - 3 C 4) D
Powerful motivation is effective factor of learming :
(1) Child becomes healthy (2) Does meditation
(3) Remains happy (4) Learns rapidly

v afior digy @ ywEsE) oo ¥ -
(1) IO e @@ EE & (2) «@F T ¥
(3) wE=t W ¥ 4 N draar
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Gigabit Ethernet signifies :

(1} 1000 Mbps Ethernet (2) 100 Mbps Ethernet
(3) 10 Mbps Ethernet (4) 10,000 Mbps Ethernet
drmfre e ¥

(1) 1000 Mbps FawiT (2) 100 Mbps SaTie

(3) 10 Mbps 3a¢I (4) 10,000 Mbps FaTe

The generic domain name INT is given for :
(1) Internet based organizations

(2) Intranet based organizations

(3) Network support centres

(4) International organizations

e 2w 9@ INT fras faw & 2
(1) T onui@ gt & fag
(2) 3gme snul@ dwed & frg
(3) “ead U ded % Fig

(4) siaisE @ % g

SMTP is the protocol used for

(1) SMS (2} Voice transfer

(3) e mail {(4) None of the above
SMTP Widrhiel fma @m omr & °? |

(1) SMS (2) %= WEEw & Wy
¢) 9w & fro - (4 s B T8

Modem is used for : o
(1) Multiplexing/Demultiplexing (2} Modulation/Demodulation

(3) Error Correction (4} Error detection

WA HH T E

(1) TERRRTETERtT ¥ (2) e mede

3) I dgeT @ e b A

What characteristic of website is different from a normal software ?
(1) Does not wear out (2} Uses GUI

(3) Evolves Continuously {4} None of the above

Iq TEE B B W U TH ERE Qa9 § fre &0

(1) Ty =& ¥ (2) GUI vam & e %

3) Prex sa= B % (4) SE @Y A
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Inputting a character from a keyboard is an example of -

(1) Asynchronous communication
(2)  Synchronous communication
(3) Both of the above
(4) None of the above

keyboard & % wwite Pyt weow IERAT B

(1)  orgeaetters dovy o

(2) gowed: dexo @

() SwWEm

(4) e B¢ wd

Farmer : Plough : : Author -

(1) Book (2} Pen
(3) Writing (4) Brish
foam 5l ¢ dEw

(1) Faaw 2 ¥

(3) Taamr @) g w
Lion : Cub :: Duck -

(1) calf : (2)  duckling
(3) Kkitten (4) tadpole
oEgqa T ‘: =1

(1) =% (2) sHiiT
(3) fmen (4) =@

Find the number of triangles in :

@ R A R B 7

99/ SHKPO1_A) 11

(M s (2) 10
3) 6 - 4y 12
MANTEL : NAMLET :: VANITY : ~
(1) NAVYIT (2) NAVYT]
(3) NAVIYI (4)  AVNTIY
MANTEL : NAMLET - VANITY : '
(1) NAVYIT (2) NAVYT]

~(3) NAVIYT (4)  AVNTIY

I 1Conca...




Questions 51 to 55 are based on the following data :
(A) L studies Physics, English and Chemistry
(B) M and N study Chemistry and Psychology
(C) O and Llstudy Biology and Sanskrit
(D) P and M study Hindi and English
R 51 55 e T saiE ¥ o
(A). L oifeay, ofiel ofiv amaw -gea ¥
(B) M &R N @ oiX weiRE ged ¥
(€) 0 o L siafree ok dwpa ved §
(D) Pe.i’r{MfeTﬁeﬂraiﬁrrﬁ-uaﬁ% I

51  Which student studies the maximum number of subjects ?

(1) O

2y N

3 L _.
@ P :
a1 B aftred R e €7
1y o | -
@) N

3y L

4y P

52 Which subject i§ studied by only one student _?‘ '
(1) Biology
(2) Hindi
(3) Physics
(4) Sanskrit SR
FH-T Rrw Haw Um W E BN 9el W@ § 7
(1) iaf -
@ =
@) i
(@) TS _ _
oo ShicROL_A] 2 IR (Conc..



53 Which two subjects are studied by more than two students ?
(1) English and Hindi
(2) Chemistry and Hindi
(3) Physics and Sanskrit
(4) Chemistry and English

ﬁﬁﬁaﬁwaémmmq&mﬁ% ?
(1) ol o =
(2) Weﬁ“{%?ﬁ
(3) o ok w=pa
@) WA &R ek

54  Which students are studying only two sﬁbjects ?
(1) Lad O -
2) Oand P -
3) LadP
4) M and N .
HF-Y B W a‘r oo g @wE ?
(1) Lo
2) 0 &P
G) LakP . -
(4) M e N :

55  Which students are not studymo Bloiogy Sanskrlt and Phy51cs ?
(1) M, N and P only '
(2) N and O only
3} M and N only
(4) M, N, O only |
FT-d w e, W@Tﬁ%ﬁﬂé’r%@%?
(1) M, NsiRP&
(2) N3RO®
@) MR N®
(4) M, N3k O

99/ SHKPOI_A] 3 I, (Conte.




Red the passage and answer the questions given below : (Q. 56 to 60)

Science has made human life happier in many ways. 1 1s dilficult to enumeraie
e whvantns it has conferred upon man. The last and not the least important
iy a1 which science has changed people and made them more civihzed is by
imaicng them more tolerant,

A lolerant person is one who does interfere with other people, even if he thinks
they are wiong. but he is prepared to let them think what they like and what they
tuih. If' he thinks they are wrong, he may Uy to persuade them 1o believe differently,
but he will not try to force them. A great deal of misery of mankind in the past has
sprung from people, being unwilling to tolerate other people thinking differently from
themselves. This intolerance has been particularly common in religious matters. People
who did not share the religious views of the rulers were tortured and burnt alive, Two
persons, cherishing different religious fought bloody battles. Science has enabled man
to reason and control over-flowing passions that arise from intolerance. In the present,
the countrics, firmly believing in two different political ideologies are coming together
because they are becoming more and more tolerant. If science has increased the
horrors of war, it has increased the possibility of etemal peace, too, which will come
from tolerance.

Frafafad syede & sman w1 e 56 A 60 F v Afw

foem % wd alial & g Shem o g T 31 SEF T WG 9 e
for g sl &1 o e v ¥ sRar R g S8 — frs S ot @ e
&~ THT AN @y aﬁmmﬁmaﬁaw%wwsﬁawﬁﬁaﬁ%eﬁ@%
il % e ¥ o ¥, R & T guen @ R 9 W e 2 T AT BT & @t
w A I B AT gET ¥ e W W wed ¥ of yw v ¥ B ¥ e
%a%a*sﬁwmﬁmﬁaﬁﬁﬁamw%,wmamﬁmgﬁw?ﬁwami
g e el @ gden B waf @ g ¥ o e Ry @ weT T a5

U W g€ ¥ g% eraeiiear fistuemt e wrowl F ol s 1 st wi o %

Hitdia gResbror wf Y A &, 9% warfea R san on @e Rrar sen Ran s ey
amwﬁww@ﬁw@%mﬁm%mﬁww
AT ¥ O gu W B Freife w0 ¥ ol B ) odam § o R
Tt feureraelt ar 3u anew ¥ Hlia on < ¥ Wit 3 ol § o waETeie
ﬁﬁ%luﬁﬁﬁﬁ%@%wﬁm%ﬁ’rwﬁmaﬁﬁfaﬁﬁﬂﬁmﬁrvﬁwm
¥ o geTsieer ¥ e ‘

6  What is tolerance ?
{1} | is accepting the views of others
(2)  ltisallowing others to believe what they believe, without punishing them
{3) 1t is the spirit of non violence
(4) It is kinduess to suffering people who need our help

R CE

() @0 & REn/fan ael & @R s

(2) @0 R q G oA AR oAy i, R afeg feo
(3) | @& v

4 el @ % wR e wen ¥ R el wee wf
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59

60

How has science made man tolerant ?
(1) by making him think and reason
(2) by making him more intelligent

(3) by making him more civilized

(4) by making him happier

fasmT ¥ W @ gela he g ¥7
(1) S aeF ofivadh s ey &

(2) ¥ it ghemm TaR

(3) SO e g9 T T

(4) SH @I T B

£

A lot of suffering was brought to the mankind by :
(1) scientific progress and inventions (2)  advancement of civilizations
(3) religious intolerance (4) © wars and bloodshed

qEE Sad @ afue ¢ %E 4 emEr ?
(1) Jsuie wify oY enfawsrl & (2)  wvaren & forema
(3) uifip orgeasimar @ (4). Tg ot g7 ww §

What happened to the people who-did not believe what their rulers believed ?
(1) They were honoured and respected

(2} They were neither honoured nor respected

(3) They were allowed to believe as they liked

(4) They had to lose their lives

wmwwgmﬁﬁﬁ%ﬂiﬁwmmamnﬁ%@r?
(1) % omEY ot e R

(2) S€ 7 W@ A gEE P

(3) T= S & 9E O ¥ W fEn e

4) T Ut WW EEr 991

How has science changed mankind in the recent years ?

(1) Science has made man more powerful with the help of discoveries

and inventions
(2) Science has made him more tolerant
(3) Science has made him powerful and proud
(4) Science has made him non-believer.in God

Uow oo el ¥ fRe ¥ Mg @ $ g ¥?
(1) fasm = onfassl ofiv @il & o &1 aifyes afRroel wmn &
(2) fasm= w4 38 afys wewshe @
(;)ﬁﬁﬁ%aﬁmﬁa‘sﬁr&aﬂraﬁmﬂﬁrm%

- Rew Y 3@ aitew T d
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